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QUESTION 1

In the local two-node cluster redundancy scenario, when the U1900 series unified gateway on the active node is faulty,
service servers need to be manually connected to the unified gateway on the standby node.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 2

About the local regeneration call source of U1900 series unified gateways, which of the following statements are
CORRECT? (Multiple Choice)

A. The purpose of configuring the local regeneration call source is to implement the local regeneration function for local
SIP users.

B. The purpose of configuring the local regeneration call source is to implement the local regeneration function for local
POTS users.

C. The local regeneration call source is configured on the primary node.
D. If the local node has only SIP users, the local regeneration call source is not required.

Correct Answer: BD

QUESTION 3

In a multi-node centralized network, there is a central node with a U1981 deployed, and two branch nodes, one with a
U1911 and the other with a U1960. After a call from SIP user A under U1911 to POTS user B under U1960 is
connected, the path along which the RTP streams are transmitted is ().

A. AU198K->U1960

B. AU1960

C.AB

D. AU191K->U198K->U1960B

E. AU1960B

Correct Answer: B

QUESTION 4

To deploy a multi-node centralized disaster recovery network, the () license needs to be loaded on the standby node in
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the center.

A. Standard

B. Local regeneration

C. Multi-party conference
D. Disaster recovery

Correct Answer: D

QUESTION 5
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In the eSpace UC solution, eSpace Desktop needs to communicate with the (). (Multiple Choice)

A. UMServer

B. eServer

C. MAA

D. Unified gateway

Correct Answer. ABD
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